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their own words as far as practicable.

xiv) A AERRT T ¢ SrefiRay g & : Ty : 2
xv) FHRGHON, ‘Wi AT ue: e uea |

2. Answer any four of the following questions:

1. Answer any ten of the following questions in
Sanskrit language in Devanagari Scripts:

2x10=20 5x4=20
i) Erm e ? e yemmr: S a) Explain the following Sutra (any one):
| 5x1=5
ii) iR e GrenfER A ? e B v i) FIRHOT: F
i ? i) s
iii)  frafefameeny sfemrgs form 2 tfufed wHfoT et i) s

faufer: ?
iv)  STCEdeRHuT: aTexvt <o | fof T 37eRferd o ?

v)  EAgH TR g g w-ve e s e ? ‘et
I’ ST DRI IS - ?

vi) S o AT IR : S B

b)  Explain the following Sutra (any one):
5x1=5

i)  UE-HERIT ;|
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d)

621/Sans.

i) MEIETEeE |
iii) feoge dgEm|
Explain any one: 5
T  IRT gt |
OR

AR el & afg-damTelsd 999 ;,
T ee |

Account for the case-ending of the underlined

words (any five): 1x5=5
i) g el

i) T

iii) aH SRR |

iv) femaEd g End |

v) SR ST IS |

vi) IR R |

Explain the formation of the following

compound (any two): 21x2=5

U, ﬁ?{ﬁrﬁfﬁ , G, A, SRR, e : |

Write short note on: 5x1=5
A9 OR U9 |
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3.  Answer any two of the following questions

selecting at least one from each group:

(One must be written in Sanskrit language in

Devanagari Script) 10x2=20

621/Sans.

GROUP-A

What is ®HIE=-11? Name the words treated as
such and show the ending, they usually take.

T A FHIGEA: ? o o VT HHIGEEE
= ? qegeeand ol faveas: wa=ifa
3fererd | 10

OR

o T 3Afereh o ? = o {dfdem] ? WeTeuHIe=Aar |

N

GROUP-B

Explain the sutra fqeIsul fei=vr a8 with
example and the commentary of YEIfEIad,
10

OR
What is 9&fafe? Discuss fully.



